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Parer I1

(EDUCATION)

1. Metaphysical questions deal with
(A) Cosmological aspect
(B) Theological aspect
(C) Anthropological aspect
(D) All of the above

2. “Education is the manifestation of perfection
already in man” as stated by Swami Vivekananda.

Here ‘manifestation’ stands for
(A) Sattva quality
(B) Raja quality
(C) Tama quality
(D) None of the above

3. Match the following:
List-1

(a) Perception

List-11
Observed uniformity
between two things

(b) Inference 2. Authoritative statements
(c) Testimony 3. Direct cognition of an
object through senses

(d) Postulation 4. Hypothetical knowledge

Codes:

@ @b © @

A 1 4 3 2

B 3 1 2 4

<o 1 2 3 4

D) 3 1 4 2
4. Match the following:

List-1 List-11

(a) Avidya 1. Egoism
(b) Asmita 2. Attachment
(¢) Raga 3. Aversion
(d) Dwesa 4. False knowledge

Codes:

@ ® © @

A 2 1 3 4

B) 4 1 2 3

<o 1 2 3 4

D) 4 2 3 1

1. iHRm Rae el Sl 3
(A) ARG A fregars (afFcs

(B) wsffaasss (2ifFce
(C) Toglaas (AfFce
(D) RS0 T
2. “Education is the manifestation of perfection
already in man” — F REFEER @@I(C‘)'I'l?ﬂ RI&
‘manifestation’ *%{57 Srefiee el z&1
(A) g
(B) serad
(C) o
(D) IEITE 7
3. 2w wiferpl giow [eay Ay “wefe s e ¢
O3 CUGERER
(a) 2% 1. 7o R sy sidEweore
A=l
(b) gl 2. ANy oy
(c) *1% 3. 3firw o7 gopF @i
(d) TR 4. MGy @
(G2
@ @b © @
A 1 4 3 2
B) 3 1 2 4
<o 1 2 3 4
D) 3 1 4 2

4. f=fiie gt siferwm Sca A=y e e ¢

©Iferer-5 ©IferE-2

(a) SIRwl 1. SR
(b) Pl 2. A4
(c) =4l 3. fagzel
(d) @ 4. AT T

(T3

@ ® © @

A) 2 1 3 4

(B) 4 1 2 3

€ 1 2 3 4

(D) 4 2 3 1
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5. Jainism admits various sources of knowledge 5. (Twys weEiE FRfie @t ey @i M
and select the right option from the following: @I Sorefe Biere w1 T e
(A) Perception (A) erere
(B) oiepe @3 Al <gfe

(B) Perception and Testimony
(C) Perception, Inference and Testimony

(D) Perception, Inference, Comparison and (C) =ora, S 4R 1
Testimony (D) efoyre, S, Wil @3 2isias Kgfs
6. “Values are absolute and unchanging”. Which 6. SETCIY *IPefe @) geifaea — fgfeiie @
of the following School of Philosophy believes this e GG ™ @ 2
statement? (A) ATTAT
(A) Realism
B) &dFroqm
(B) Naturalism (B)
(C) Idealism ©) o
(D) Pragmatism (D) acaEm
7. “Reality is manifold and constantly changing”. 7. B! aﬁﬁﬁﬁ G2 Mo® ARSIt — @b (I

Which School of Philosophy confirms this statement? e efodiea e TG ?

(A) Idealism (A) ©IFEm
(B) Realism

B) AWM
(C) Pragmatism (B)
(D) Naturalism (C) greRv

(D) &proqm

8. Who has written the book ‘Bartaman Bharat’? 8. ‘JENy BT’ a3 I @ ?
(A) Rabindranath Tagore (A) AT -3@?,
(B) Sri Aurobindo (B) & sl
(C) Swami Vivekananda ©) . ——
(D) Gandhiji
(D) oiifsfer
9. Our identity or sense of self is shaped by which 9, SNIMH WeY € el e 27 @i Aifes
sociological theory? wred W4 e e

(A) Social Interactionism

(A) Iifes fem efsfazam
B) 2/ frzl afsfarziam

(C) Structural Functionalism ®) B

(D) None of the above © e e

(D) TR @IoE 77

(B) Symbolic Interactionism




10. Structural Functionalism focuses which of the
following concepts?

(A) Institution serves a vital role in the
functioning of the society.

(B) Social Institutions based on social factors
for shaping society.

(C) Interprets each part for the stability of the
society.

(D) All of the above

11. Who recommended that In-service courses and
Refresher courses should be related to the specific
needs of the teachers?

(A) Acharya Ramamurti Review Committee
(B) Education Commission (1986)

(C) Kothari Commission

(D) None of the above

12. Match the following in List-1 with List-1I and
select the appropriate code:

List-1 List-11
(a) Mudaliar Commission 1. Recommendation to
establish DIET and
NCTE
(b) Kothari Commission 2. Based on
Constructivist
Theory
(c) NPE (1986) 3. To establish State
Board of Teacher
Education
(d) NCF (2005) 4. Introduced one year
pre-university course
Codes:
@ (b)) (© (@
(A) 4 3 1 2
B) 3 4 1 2
< 1 2 3 4
D) 1 3 4 2

13. Which of the following one strongly
recommended that teacher education institutions must
be located in amulti and interdisciplinary environment?

(A) National Policy of Education (1986)

(B) National Knowledge Commission (2007)
(C) Justice Verma Committee (2012)

(D) Yashpal Committee (2009)

X-5
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10. TSI FEFTeRM FEERS @ Qe
AN TG ?
(A) =fSDI e FifReCe Ko Sl argd
3|
(B) AN *[&oMz AWE 2fediera s
LA = |

(C) A= AfZfe il NS =T A |
(D) ToAEFF AIFO 9y

11. e o<z e a3 i @i 21 Rwsom
oislisfe R @36 SMare— @it i S iz
RGIPER

(A) =IBRf Arfs el <fife
(B) o8 SR (Sopvv)

(C) T FhRm

(D) TR @R 77

12. aweyfs sl st A fefers #fow Teaf
6w 3 ¢

©IfeTR-5 ©IfeTRI-2
(a) WIerRE I« 1. DIET € NCTE Z7&
Al
(b) @ofashmg 2. fifeam srea S
[k
(c) NPE (1986) 3. ey W o177 19
A=A
(d) NCF (2005) 4. PU Al &5 Reafwyiera
AIET &) GF AR
@R ot
(TS
@ G @© (@
A) 4 3 1 2
B) 3 4 1 2
©) 1 2 3 4
D) 1 3 4 2

13. e @M s el afewiea g Aot
341 27 (@ P el 21 wredel € TR oifTge @t
ISR ISISE R

(A) National Policy of Education (1986)
(B) National Knowledge Commission (2007)
(C) Justice Verma Committee (2012)
(D) Yashpal Committee (2009)
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14. Which component from the following is not
included to define curriculum framework?

(A) Objectives of Curriculum
(B) Institutional Resource
(C) Evaluation System

(D) Content Weightage

15. The concept of ‘SUPW’ was elucidated by
(A) Sampurnanand Committee
(B) Adiseshiah Committee
(C) Ishwar Bhai Patel Review Committee
(D) Ramamurti Committee

16. CostBenefit approach in education emphasizes

(A) expenditure on education should be

thought of as a form of national investment.

(B) the investment in education should be
based on the benefit of return.

(C) the level of earning of educated people
must be high.

(D) Both (A) and (B)

17. Which of the following statement with regard to
cost benefit analysis is useful for decision making in
education?

(A) Relative earnings of the educated man
power

(B) Resource allocation for highest rates of
return

(C) Increasing profitability
(D) All of the above

18. The budgeting process in any educational
institution should

(A) study carefully educational needs of the
school and make estimate of the revenue
necessary to meet these needs.

(B) identify and list the activities you want to
be carried outin your school within a year.

(C) give an estimated cost of the sources and
study the budgeting guidelines issued by
the government.

(D) All of the above

X-6
14. e @S TAMSG AGFT FRAIETD oW
e
(A) ATTEFC Gy
(B) 2ifewifers 7~em
(C) FHIRE 2w
(D) Rezaea i

15. ‘SUPW’ «iFeiis Sozifsre 2@z
(A) F=o)efie faifoa Mg
(B) wifnesia1ig sfiba iy
(C) =2 #Thet A= Ffba T
(D) =S Fffba s

16. RERICHcE R-eTesi pigefE wwy ¢

(A) TR=RET R SRS (Fq R IgeT
S 41 |

(B) Mrrivwrg RNGeR Soe gen<sH |
(C) T=Fl7 (2 I& AT Tob SR A™AAH Z(3H |
(D) (A) @3k (B) b2 37

17. IR TN viRe i Kol e (e Fererea
Prale @1 (Feq SRS 2

(A) oS 7 RS SIRma & |

(B) I=Ind 35+ F4(fe<s Rfcitos aorsea
ey |

(C) ToREI 7oA |
(D) “RIHZ 7

18. = qeEGe R Foe @ Al ¢ ==

(A) dfedis pifzn dfze @R Toige oda
CaloleT |

(B) =ifvifes iz Fep aaf ofer
[N

(C) IIT € JEF T AEHT TTOE ST @
FEe Teorafs fBfee a9t = Wt
e fofe @)

(D) THAER 03 79 |
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19. Liberal Ideology 19. Twiaifeam 2=
(A) was invented in the eighteenth century to (A) TRmI=reraics Ao Sriaaifeam sifoa e
serve the interests of the British Liberal

Pl Somesyy afefde &1

. Zartyl' ; - ) (B) T Ao Bt ot 3% 3071 |
t to t = =
(B) developed as .a oS 1 e respoqse o the ©) «fs @ e T N A
emergence of industrial capitalism.
IEN

(C) is a compromise between socialism and ~ P
conservatism. (D) JI[&FT© FIHFTOIF AR ¥Fg (T |

(D) is along established creed which focuses
on individual freedom.

20. Which of the following concept rational actors, 20. (@ifes fa, sig-eigz @R vy G
self-interest and the invisible hand are related to? e @I wred T Wg\@ ?

(A) Rational Choice Theory (A) (e oW og
(B) Human Capital Theory (B) o5

(C) Signaling Theory -
(D) All of the above (©) TS o%
(D) Toicaa 752 79

21. Growth and development of an individual is the 21. Ifeq Jm ¢ Kl 251
product of (A) AT T
(A) Environment '
B) Ieeielfos el
(B) Heredity (B) < o
(C) Heredity and Environment (C) RIS S AT - O 7
(D) None of the above (D) BATTH AR 7
22. Sigmund Freud’s theory of Personality is based 22. 1o FEed Aferegd oy fFfaie Gifeg o
on the principle of fofe a7 e S
(A) Phenomenology (A) T5reE
(B) Psycho-analysis (B) NeI-Rcead
(C) Social learning - §
(D) Assertion © s
(D) faqfe
23. Mental hygiene deals with 23. SRR FIC SETSs K0 2
(A) Prevention of mental illness (A) TP spEeR afswi

(B) Preservation of mental health (B) IR g Aeael
(C) Cure of mental illness

(C) R SpIZel vd 41
D) All of th
(D) of the above (D) i TR T
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24. Who first proposed the theory of Multiple
Intelligence?

(A) Sternberg

(B) Howard Gardner
(C) Gordon Allport
(D) Curl Rogers

25. Fluency, flexibility, originality and problem
identification are the key elements of creativity. Who
proposed the above elements?

(A) Guilford
(B) Wertheimer
(C) Koffka

(D) Rogers

26. Which of the following concept of problem-
solving is related to?

(A) Developmental Psychology
(B) Cognitive Psychology

(C) Industrial Psychology

(D) Clinical Psychology

27. How an organism operates on the environment

or how it responds to what is presented to it in the
environment means?

(A) Classical conditioning
(B) Operant conditioning
(C) Reinforcement

(D) Social conditioning

28. Apologizing, avoiding or ignoring situations
and resolving the problem is related to

(A) Social competence of an individual
(B) Emotional competence of an individual
(C) Cultural competence of an individual

(D) Personal competence of an individual

X-8

24, [fqy Jierel g 22T (F 2RI FARE ?
(A) Sternberg
(B) Howard Gardner
(C) Gordon Allport
(D) Curl Rogers

25, SEIeTel, AT, oo @7 e fofzrewael
TeaReTel Wrgd AT Somie |
Cfrfde Somimafl (¢ 48R I 2
(A) Guilford
(B) Wertheimer
(C) Koffka
(D) Rogers

26. I I 1T e @b i e 2
(A) R ey
(B) (@& NAEE
(C) ™ Iwe
(D) BR=Ie g

27. SR GFH Toiels SAfREET THa 2ok i
FIE GR I Al e afefen s@—
@b RS @ aRelR e IS 2

(A) bl sae
(B) SIS SIS
(C) el emrm
(D) (& Te

28. “AfafEfosre Fiwe == 2w 1, @few@ vt

ol F1 Q3 IO T @R M TS eI
2

(A) Jfex ANET wrel
(B) &= ST vl
(C) afeq Acghes mwel

(D) Jfex FfEre wwel



29. Which of the following counselling type is not
suitable for people with serious personality problems?

(A) Directive counselling

(B) Non-Directive counselling

(C) Eclective Approach in counselling
(D) All of the above

30. Which of the following therapy is associated
with Albert Ellis?

(A) Rational Emotive Behaviour Therapy
(B) Rational Eventual Behaviour Therapy
(C) Rational Educational Behaviour Therapy
(D) None of the above

31. Which one of the following is referring to the
collaborative approach of teaching?

(A) Home assignment

(B) Pair or group discussion
(C) Paper pencil test

(D) Note taking

32. Which one of the following components is more
emphasised by the NCTE Curriculum Framework in
the present two-year B.Ed. Curriculum?

(A) Teaching
(B) Learning
(C) Internship
(D) Research

33. Reflective teaching is significant because—

1. Itis a systematic way of collecting inputs from
class.

2. It involves observation and self-evaluation.

3. It does not involve students view point.

4. It is more about teacher than students.
Codes:

(A) 3and 4
(B) 2,3 and 4
(C) 1and 4
(D) 1and?2

X-9 11-11

29. e s[e Aafon s @b Sfsfie
G TP X T& TG 2/ T TS 73 2
(A) EHETE FCEER
(B) SINGIET SIS

(C) VafT® FemEfer
(D) ToAFF AIF0Z T

30. Albert Ellis (Pl =205 el sy
(A) Rational Emotive Behaviour Therapy
(B) Rational Eventual Behaviour Therapy
(C) Rational Educational Behaviour Therapy
(D) None of the above

31. fwEie @R R e et SEie
(2 ?
(A) e
(B) (o131 STl
(C) Fioer-IoTs STl
(D) G &z (Note taking)

32. IO 279 R, oy NCTE- sHiorass!
ARG FafiRe @ Sovaba o [eia ey
aqnid 91 2R ?

(A) B
(B) ™=
(C) THIsl
(D) sicaRell

33. dfowfere R wrgs)l 2eqa T 2=
. O (AP FTPTROeIE 9L AT I
. PRI QIR F-ET
. i e sege T
. Frmida e O @ R
G ¢

(A) 394

(B) 2,3 G 4

(C) 194

(D) 149K 2

AW N =
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34. Microteaching is defined as

(A) ateacher training programme involving a
larger group of learners.

(B) a teacher training programme and
procedure which reduces the teaching
situation to a simple form.

(C) a training programme which involves a
teacher and students in a classroom
situation covering a part of the syllabus.

(D) a teacher training programme where the
teacher completes a lesson within the
stipulated class hour.

35. Directorate of Staff Development (DSD) is
responsible for

(A) conducting examinations
(B) recruiting personnels
(C) planning to enhance quality of education

(D) managing In-service teacher education

36. Which of the following agency provides In-
service training to teachers working in tertiary level?

(A) UGC
(B) NCTE
(C) SCERT
(D) DIET

37. Which of the following is most characteristic of
a good teacher?

(A) Sticks to one activity at a time and
completes what he/she starts before starting
something else.

(B) Isnotafraid of losing his dignity when he/
she participates in children’s activities.

(C) Puts more do’s than dont’s in his/her
comments to children.

(D) Remains objective and impersonal at all
times.

X-10

34, SoRERCeR Kl 28

(A) o fie wiifore Jee Mmidt el sre e
A |

(B) feimws et 35016 @ simfs feimrel sifaffocs
R Hol Wi |

(C) Tarme PIfbce PiERICE Se@s f*mws
o faes siffzfore sege 3@ |

(D) T fomrel wsforfore it strce sty formess
AL = R |

35. Directorate of Staff Development (DSD) @&
ity q2e T GI &=
(A) A BTl =1l
(B) fReeizes fcal
(C) iz weisre = A=
(D) &Il wre<S! g Al

36. ST w@ Mrwwo wlafen o FEfEis
@I A G e el emie a2
(A) UGC
(B) NCTE
(C) SCERT
(D) DIET

37. e @A ARERE SR &g 2

(A) T @38 5w 9F6 = et Tt
QR AFTS! I ARCEH A FAE Tl
AR |

(B) Premm wox 3o Sy s fof
Tl e 2ETT S O ZZ M |

(C) Mot % @ MV (oA IR g
(RSB G 2063 (e Toid wrg
(3 |

(D) fof 71t (w=ifess G M=o AeeEe |




38. The concepts of professionalism includes
(i) having focused approach

(i1) pride of being a professional

(iii) respect to people irrespective of position and
status

(iv) being more emotional

Which of the following options is correct?

(A) (i) and (iii)
(B) (ii) and (iv)
(C) (1), (iii) and (iv)
(D) (i), (ii) and (iii)

39. Which of the following is not related to
professional development of teachers?

(A) Good subject knowledge

(B) Getting promotion

(C) Understanding the pedagogy

(D) Knowing recent trends and developments

40. Which of the following principle is realted to
experiential learning?

(A) Reflection
(B) Critical Analysis
(C) Synthesis
(D) All of the above

41. Which branch of philosophy has a direct
relevance for deciding transactional strategies of
curriculum?

(A) Metaphysics
(B) Ontology
(C) Epistemology
(D) Axiology

42. Assertion (A): Teacher education curriculum
has to give enough space to learners for developing
their own logical thinking and problem solving ability.

Reason (R): The learners today need
considerable freedom to explore, enquire and
investigate.

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

X-11

11-11

38. (oiimifaces e @ 4N srege @I 2
(i) 7% fram gfgefx
(i) comimifices S=sFla Al S=@E
(i) =, st Wi @fe afe e ausfa
(iv) Tere 5i2e
e @ s ageiag 2
(A) (i) 9=® (iii)
(B) (ii) @=e (iv)
(C) (i), (iii) @32 (iv)
(D) (i), (i) 93 (iii)

S ool

39. faxffee @t Mwema (oiiore S AR
TG T4 2
(A) =T TF % @
(B) eitnafe #hexi
(C) f=rifieai (pedagogy) ifFe Toieifa
(D) A=feT 3ol @ Tz TifFe Tiw

40. Ffefie @b sfverone FewE Sifeq
TG 2
(A) fswers
(B) @ifes fKesad
(C) Fe=xe

(D) Toitz A3

41. SNTEER AT (S0 FTFole oy v
Gl =1 2op Ao Al APifEel aRIR ?
(A) wifdfm
(B) wgfml
(C) =ITog
(D) TN @ e et

42. 5@ (A): M=wdime Fex @fes Hea 9z
A1l wiey F1 AR |

19 (R )z ST, O, STeTaRIC1a Grey PIIiTna
TN ARG FIHTS! 2l I 2T |

(A) (A) @R (R) TT2 9] @R (R) 24 (A)-F
Aifzcafrce 7 |

(B) (A) 9% (R) Te3i2 719 5% (R) 28 (A)-
Aifcaifrce A7 771

(C) (A) T 9y [ (R) Zo1 el |
(D) (A) =& W 58 (R) z&1 719y |
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43. Which of the following factors influence
curriculum change?
(i) Growth is knowledge
(i) Technology change
(iii)) Need and aspirations of people
(iv) Job placement
(v) Availability of competent teachers
Choose the answer from the options given below:
(A) (1), (i1) and (v)
(B) (1), (ii) and (iii)
(C) (), (iii) and (iv)
(D) (ii), (iii) and (v)

44. Why the product model of curriculum design is
different from the process model?

(A) Teacher employment
(B) Less activities

(C) Accurate assessment
(D) Less student choice

45. Which of the following is an example of theme
based curriculum?

(A) E-learning as a platform for learners to
have a dialogue perspective

(B) Emphasising the importance of finding
patterns / relationship to concepts

(C) Change inthe way a person learns to learn

(D) Engaging with a complex problem or
scenario

46. According to the philosophy of Idealism, which
combination of subjects is most appropriate forinclusion
in the curriculum?

(A) Art, Literature and Logic

(B) Theology, Literature and Art
(C) Philosophy, Literature and Art
(D) Science, Mathematics and Logic
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47. In the foundations of curriculum planning on
the sociological basis, which of the following should be
kept in mind to make education respond to social
changes?

(i) Growth of technology

(ii) Structure of the family

(iii) Cultural diversity

(iv) Instructional design and systems
(A) (), (iii), (iv)
(B) (1), (i), (iii)
©) @, (i), (v)
D) @), (iib), (iv)

48. Whichofthe following approaches to curriculum
objectives provide scope for meeting the self-
actualization needs?

(A) Behavioural - Rational Approach
(B) Intellectual - Academic Approach
(C) Systems - Managerial Approach
(D) Humanistic - Aesthetic Approch

49. Which of the following learning theories
emphasise the affective domain of learning in
curriculum development?

(i) Behaviourist theories
(i1)) Humanist theories
(iii) Cognitivist theories
(iv) Phenomenology

(A) (1), (iii) and (iv)
(B) (ii), (iii) and (iv)
(C) (i), (ii) and (iii)
(D) (@), (ii) and (iv)

50. The following information about the Swayam
Prabha (Kishor Munch) DTH TV Channel is:

(i) This facility was created by CBSE

(ii) Literary materials are broadcast through 32
National Channels

(iii) Designed to save the administrative working
hours of the schools

Which of the statements given above is / are correct
about Swayam Prabha?

(A) Only (i)
(B) Only (ii)

(C) (i) and (ii)
(D) (ii) and (iii)
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51. Which one of the following is not used in data
analysis in grounded theory?
(A) Open coding
(B) Axial coding
(C) Constant coding
(D) Selective coding

52. Ethnographic studies in educational settings are
characterised by

(A) Collaborative in nature
(B) Longitudinal in nature
(C) Unobtrusive in nature
(D) All of the above

53. Which of the following term is relevant to a
qualitative study?

(A) Comparison
(B) Prediction

(C) Correlation
(D) Exploration

54. Type-I error in the testing of null hypothesis
occurs when the researcher

(A) rejects it, but it is true
(B) accepts it, but it is false
(C) Both (A) and (B)

(D) Neither (A) nor (B)

55. Inresearch situation non-parametric statistics is
used for

(A) Nominal Data

(B) Ordinal Data

(C) Both Nominal and Ordinal
(D) Ratio Data
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56. Which one of the following is not the reliability

coefficient?
(A) Coefficient of Stability
(B) Coefficient of Equivalence
(C) Coefficient of Contingencies

(D) Coefficient of Internal consistency

57. Confounding variables might influence both

the independent and dependent variables.
(A) Completely true
(B) Totally wrong
(C) Partially true
(D) None of the above

58. Research is not considered as

(A) Scientific Method in Problem Solving

(B) Systematic and Intensive activity

(C) Discovery and organised body of

knowledge
(D) Informal ways of doing the work

59. Whichofthe following denotes the development
of theory and testing of substantive hypothesis that are

deduced from theory?
(A) Mathematics

(B) Computer Science
(C) Science
(D) Sociology

60. Which of the following options is related to the
statement: “All men are mortal, Socrates is a man and

Socrates is mortal”?
(A) Inductive Method
(B) Deductive Method
(C) Evolution Method
(D) Scientific Method
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61. Andragogy refers to
(A) Leading society
(B) Leading men
(C) Leading children
(D) Adults learning

62. Malcolm Knowles assumptions about adult
learners are —

(i) Self concept
(i) Adult learning experience
(iii) Readiness to learn
(iv) Orientation to learning
(A) (i), (i) and (iii)
(B) (1), (i1) and (iv)
(©) (i), (iii) and (iv)
(D) (@), (i1), (iii) and (iv)

63. Unit test is meant for
(A) Assessment of learning
(B) Assessment as learning
(C) Assessment for learning

(D) Assessment in learning

64. Which one of the following statements is correct
with respect to assessment and evaluation?

(A) Assessment is product oriented and
evaluation is process oriented

(B) Assessment is process oriented and
evaluation is product oriented

(C) Assessment and evaluation are process
oriented

(D) Assessment and evaluation are product
oriented

65. Summative assessment is to

(A) make judgment
achievement.

about students

(B) provide remedial measures to student.
(C) improve the learning process of students.

(D) provide opportunity for self-assessment
to students.
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66. The major types of Rubrics are —
(i) Analytic Rubrics
(i1)) Developmental Rubrics
(iii) Holistic Rubrics
(iv) Personal Rubrics
(A) (i) and (iv)
(B) (ii) and (iii)
(©) (1), (1) and (iii)
(D) (ii), (iii) and (iv)

67. Competency based evaluation is meant for
assessing —

(i) Knowledge of students
(i1) Skills of students
(iii) Values of students

(iv) Attitudes required for dealing with real life
situations

(A) (), (ii) and (iv)
(B) (i), (iii) and (iv)
(C) (ii), (iii) and (iv)
(D) (), (ii), (iii) and (iv)

68. Which of the following ICT assessment tools
are used by teachers?

(A) Wiki

(B) Google form

(C) Google classroom
(D) All of the above

69. Which type of evaluation gives the teachers the
ownership and control of their own professional growth?

(A) Peer Assessment

(B) Self Assessment

(C) Student Assessment

(D) Management Assessment

70. The main purpose of peer evaluation of teachers
is
(A) to improve the quality of teaching.
(B) toimprove peer collaboration in teaching.
(C) to improve the students achievement.

(D) to improve students participation in
learning.
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71. Some online assessment tools are as given below.
Choose the right option.

(A) Google form, Google meet, Paddlet
(B) Zoom meet, Webex meet, Google meet
(C) Google form, Kahoot, Quizzes

(D) Kahoot, Webex meet, Quizzes

72. The four quadrant approach used for online
courses includes the following:

(A) e-lecture, e-video, e-text, e-assessment

(B) e-tutorials, e-text, discussion forum,
e-assessment

(C) e-tutorials, e-video, discussion forum,
e-assessment

(D) e-video, e-mail, discussion forum,
e-assessment

73. When the learner and facilitator are connected
together inreal time situation, itis an example of which
of the given below?

(A) Blended learning
(B) Asynchronous learning
(C) Mobile learning

(D) Synchronous learning

74. Which of the following options is correct?
List-1 List-11
(a) Swayam 1. Google meet

(b) Synchronous learning 2. Online and face to
face learning

(c) Blended learning 3. E-mail
(d) Asynchronous learning 4. Moocs
Codes:

A 1 2 3 4
@ 4 1 2 3
© 3 4 2 1
™ 2 3 4 1
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75. Linear Programming is based on which of the
following?

(A) Providing remedial instruction
(B) Providing immediate reinforcement
(C) Providing online content

(D) Providing mastery learning

76. Which of the following options is correct?

List-1 List-11

(a) Lecture 1. Small group
(b) Brain storming 2. Large group
(c) Linear Programme 3. Computer based
(d) CAI 4. Individualized

Codes:

@ ® (© @

A 1 2 3 4

B) 2 1 4 3

< 2 3 4 1

D) 3 1 4 2

77. The book The Systematic Design of Instruction
is authored by whom?
(A) Dick and Gagne
(B) Carey and Gagne
(C) Kemp and Carey
(D) Dick and Carey

78. ‘Zone of Proximal Development’ according to
Vygotsky is what?

(A) Defined as childs actual developmentlevel
and potential development under adult
guidance

(B) Defined as childs actual developmentlevel
and potential development without adult
guidance

(C) Defined as childs actual development
level only.

(D) Defined as childs potential development
level only.

X-19

11-11

75. Fsfiie @ta Son fefe s Wz caiam

T TR ?
(A) 2SS e
(B) SIS 7jwzHiiG i
(C) wiweiies = awie
(D) el o e

76. e @ [ Ao
©IfeTR-5

(a) Ig9l

(b) e I

(c) ferfern= caiians

(d) CAI

©IferRP-2
1. 5% (M
2. 328 (D
3. TR g
4. afeelfes

(A)
(B)
©)
D)

W NN =
—_— ) = N
>~ B~ B W

77. The Systematic Design of Instruction %&b (&
ferctes 2
(A) & g3 smisif
(B) @l @3 spisif
(C) &I a8 Fif
(D) &= g2 wifst

78. @Qﬁﬁ?ﬁ 9 “Zone of Proximal Development’
Je
(A) ITFEE R SRiE fed a5e @3k
MYy [ B9 st @IS I |

(B) IR gl Rieg aFe aa ey
RPIE B1 Feel Kesife I |

(C) sy Mred aFe RIIIT WA e e
3 |

(D) BElg fred TRy KPR BT TSI
0 |

[ Please Turn Over ]



11-11
79. Choose the correct pair from the given:
(A) Piaget — Developmental Model
(B) Bruner — Advance Organiser Model
(C) Ausubel — Concept Attainment Model
(D) Skinner — Non directive Model

80. In the ASSURE Model the sequence of
instruction is as given below — which one is correct?

(A) Analysis learner — Select strategies —
State standards — Utilise material —
Require student participation — Evaluate

(B) Apply learner — Select strategies — State
content — Utilise media— Require student
participation — Evaluate

(C) Analyse learner — State objectives —>
Select methods — Utilise media —
Require student participation — Evaluate

(D) Apply learner — State objectives — Select
strategies — Utilise media — Require
student participation — Evaluate

81. ‘Unfreeze-Change-Refreeze’ refers to the three
step process of change management based on who’s
theory?

(A) Greiner
(B) Deming
(C) Kurt Lewin
(D) Shewart

82. Find out the right order of stages of Poka Yoke
a Japanese model of change management.

(A) Define, Analyse, Measure, Improve and
Control

(B) Define, Control, Analyse, Measure and
Improve

(C) Define, Measure, Analyse, Improve and
Control

(D) Define, Measure, Improve, Analyse and
Control

83. What is the full form of INQAAHE?

(A) International Quality Assurance in Higher
Education

(B) International Quality Agency in Higher
Education

(C) Indian Quality Assurance Agencies in
Higher Education

(D) International Network for Quality
Assurance Agencies in Higher Education
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84. Cost Benefit Analysis implies a systematic
comparison. State which option is relevant from the
following?

(A) Economic Profitability
(B) Raw Material

(C) Function of Organisation
(D) Output

85. Match the following:

List-1 List-11
(a) Poka Yoke (i) Shigeo Shingo
(b) TQM (i1) Kurt Lemin

(c) Three step model
(d) Justin Time
Codes:

(ii1)) Deming

(iv) Planort

(@ ® © (@
@ @ (@ Gv) 3>
B) @ Gy Gi) @>Gv)
© © G aG) (Gv)
O O @ (Gv) (i)

86. Which of the following options we can consider
as components of Deming Wheel?

(A) Plan, check, do, act
(B) Plan, act, check, do
(C) Plan, do, check, act
(D) Plan, do, act, check

87. Which of the following statements is false
in terms of ‘six sigma concept’ in Educational
management?

(A) Defining the project based on process map
(B) Identifying customers requirement

(C) Quality and corrective measures

(D) Work management

88. Theleadership model based on task management
and human relationship is termed as

(A) Team Management

(B) Organisation Management
(C) Value Based Model

(D) Managerial Grid Model
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89. Match the following between category and task
of Transformational leadership:
List-1
(Category)

List-11
(Task)
(a) Intellectual Stimulation (i) Support and

encouragement to
followers

(b) Individual Consideration (ii) Vision to articulate

followers

(c) Inspirational Motivation (iii) Explore new ways of
doing things

(d) Idealised Influence (iv) Role model

Codes:
@ b © @
(A) (i) @) @@ 1)
B) @) (@Gv) @@ >
(©) (i) @Gv) @) (@)
D) i) @ 1) 3(1v)

90. Identify which component is not a part of Trait
Theory of Leadership?

(A) Physical Factors
(B) Intelligence

(C) Emotional Maturity
(D) Sociability

91. Inclusive education is carried out
(A) in a separate learning environment.
(B) in a common learning environment.
(C) special emphasis onremoval of disparities.

(D) where students are segregated on the basis
of their disabilities.

92. Dyscalculia is a term which is indicated by the
area of difficulty of

(A) Math skill

(B) Language expression
(C) Fine Motor skill

(D) Written expression
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89. FATETLTS (g AW IR B[S FHOITR
S gy el e 2

I3 Ol
(efFIaTem) (wifofe Ffer)
(a) (@fas Twol (i) STEINTE SeAZ @R
RIS 2Mie
(b) & wFg (i) SRASTRTReBE
341
() SICLRENERE (2ol (iii) wgw Py R e
(d) SRFET dok (iv) CAIeT SICea
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(@ b © @
A) Gy G @ >(v)
(B) (i) @Gv) (@) (D)
© Gy @Gv) G @
D) Gy @ G (v

90. (I SAMIATD (ToTe TP TG S 4 2
(A) I ToAmE
(B) Jfa
(C) ACHIEH sAfFese
(D) sl

91. IFSfeEE Rl A zm—
(A) 725 R sifdEeR sy
(B) iz frea #Ifqcaees ey
(C) FEs AR Bold RRexin warg amisy
(D) Afsaaror fefare Mt sjaFiwae

92. Dyscalculia 930 *I% @32 @b (@ LA TPHIE
7% 37, o1 ==

(A) aiifdfes wwrol

(B) ©RIF 2

(C) 7 oife¥ia wrel
(D) fertea g el



93. AspertheICF Model, Disabilities are classified
nto
Body functions and structures
Participation or involvement in all areas of life
Environmental factors
Policies formed for the disabled
(A) 2,3and 4
(B) 1,2and 3
(C) 3,1and 2
(D) 1,2and 4

b=

94. Sarva Shiksha Abhiyan (SSA) adopted which
of the following Policy?

(A) Zero Resource Room Policy

(B) Zero Rejection Policy

(C) Zero Acceptance

(D) Zero Home Based Education Policy

95. “To integrate the physically and mentally
handicapped with the general community as equal
partners, to prepare them for normal growth and to
enable them to face life with courage and confidence”
is mentioned as per

(A) World Declaration on Education for
All (1990)

(B) Rehabilitation Council of India Act (1992)
(C) National Policy of Education (1986)

(D) Scheme of Integrated Education for
Disabled Children (1974)

96. Which modelisbased ontwo teaching polarities
joined together in one classroom?

(A) Inclusion model

(B) Team Teaching model

(C) Strategies Intervention model
(D) Resource model

97. Which model provides an opportunity for the
disable children to develop their social, emotional and
inter-personal skills?

(A) Social Mainstreaming Model
(B) Full Inclusion Model

(C) Resource Model

(D) Non-Academic Model
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93. ICF 5o S afeqaaerd cfafsior 2=
1. iz FfE @3 FoN
2. GG FRCHE SiRHaze Al RYfEwae
3. NIRRT SAme
4. efezRioE & sifde TfeTg

(A) 2,394

(B) 1,293

(C) 3,192

(D) 1,294

94, R Sifeale Tl @im Ao sfHaz Fa
ECR?
(A) #7377 79 e
(B) [y efeyidie if®
(C) =y azeiisle Fife
(D) * @=fefes Mmwidifs

95. “To integrate the physically and mentally
handicapped with the general community as equal
partners, to prepare them for normal growth and to
enable them to face with courage and confidence”
TH{faCe Tafol SIS Stz

(A) World Declaration on Education for
All (1990)

(B) Rehabilitation Council of India Act (1992)
(C) National Policy of Education (1986)

(D) Scheme of Integrated Education for
Disabled Children (1974)

96. FERIRS (@ NTa W @EFCEF 9o WLEw=
GRF(S G0 G IR ?

(A) TSI AT
(B) we1ore fR%e S0

(C) (TS S[ZI Cwe
(D) A~ (e

97. e &N Wwe dfeaw Fewma e,
ATHCT G SABTGT wHold [ T AR9)-
Al 2w IR 2

(A) s JERIRIR T
(B) T~ wregie wws!
(C) F=aTe WG

(D) Tt 3fzge Iws
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98. Which of the following is an Assistive
Technology for students with Autism?

(A) Battery separated sensory toys
(B) Visual timers

(C) Social skill videos

(D) All of the above

99. Match the following:

List-1 List-11
(Nature of Deviation) (Resultant Impairments)

(a) Cerebral Palsy (1) Problems related to

reading words and letters
(b) Congenital
Cytomegalovirus

(i1) Characterised by rapid
and an involuntary
movement of eyes, which
makes it difficult to focus
on the objects and causes

dizziness
(c) Dyslexia (111) Disorder related to
movements and postures
(d) Nystagmus (iv) Herpes related viral
infection causes hearing

loss

(v) Disorder related to far
sightedness

Codes:

@ b ©© @
Ay () @) @O (V)
B) @Gv) () @  (v)
© G w O @)
D) i) @Gv) @ (@)

100. Marfan syndrome is a kind of
(A) genetic disorder
(B) viral infections
(C) degeneration of neuro-muscular disease
(D) muscular contraction
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Cytomegalovirus (BITeF sifRerer Tt 7wa 2fs
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